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’ TANTA UNIVERSITY, FACULTY OF SCIENCE, DEPARTMENT OF BOTANY

EXAMINATION FOR FRESHMEN (THIRD YEAR) STUDENTS OF BOTANY

.COURSE TITLE: PHYSIOLOGY OF ALGAE COURSE CODE:
DATE: DECEMBER, TERM: TOTAL ASSESSMENT MARKS: ' . ’
2016 FIRST 100 TIME ALLOWED: 2 HOURS
I - Choose the correct answer:- (20 Marks)
1- The pigment in the red algae which helps to absorb blue-green region of the spectrum
reaching the greatest depth in water.............................................
a) Phycoerythrin b) Phycochlorein ¢) Phycocyanin d) None
2 —Leucosn is reserve food found in............................
a) Crysophyta b) Rhodophyta ¢) Phaeophyta and Chlorophyta d) a+b

3-The phycobilins pigments are found in the spaces between the thylakoids in.............................
a) Cyanophyta b) Cryptophyta ¢) Phaeophyta d) b+c

4- Culture allows control over illumination, temperature, nutrient level, contamination with predators
and competing algae.....................................

a) Outdoors b) Indoors ¢) Open pond d) Axenic

5- Element required for ribosomal stability and photosynthetic pigment.....
a) Molybdenum b) Copper c) [ron d) Magnesium

6- The process of nitrogen fixation dependenton........................................._.
a) Salinity b) Light ' ¢) Temperature d) atc

7- Which of the following algal divisions is characterized by possession of chlorophylls a, b, and
starch as the energy storage material........................................ ...
a) Chrysophyta b) Chlorophyta ¢) Phaeophyta d) at+b

8- This is a form of nutrition where light is required to use organic carbon sources for growth. It is
relatively rare in the algae.....................

a) Mixotrophy b) Photolithotrophy ¢) Photoheterotrophy d) Heterotrophy
9- The length of exponential phase in cultures depends Upon..............o.oo
a) Size of inoculum b) Volume of the medium  ¢) Culture conditions d) All previous

10-The thylakoids are arranged in much the same manner in higher plants in.........
a) Chlorophyta b) Rhodophyta ¢) Cyanophyta d) b+c

II- Put sign (V) front the correct answer and sign (X) front the wrong answer
and correct the wrong answer:- (20 _marks)

I - Heterocystous cyanobacteria lack photosystem [ so that there is no photosynthetic evolution of

Oxygen. ( ).
2 - In Chlorophyceae and Phacophyceae chloroplasts are enveloped by two

parallel membranes. ( ).
3- The chloroplast is a discrete ceil organelle which represents in the photosynthetic apparatus of

eukaryotic cells. . ( ).
4- All nitrogen fixing organism are eukaryotic. ( ).
5- The inflow rate of fresh medium introduced into the chemostat culture is fixed. ( ).

6- Iron is required for nitrogen assimilation, in photosynthesis and for the synthesis
of cytochromes.
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%ﬁ 3 TANTA UNIVERSITY |
v, I FACULTY OF SCIENCE
lt M[ DEPARTMENT OF BOTANYY

B EXAMINATION FOR JUNIORS (THIRD YEAR) BOTANY STUDENTS

[+ ][COURSE TITLE: Molecular Biology COURSE CODE: BO3103
DATE. | 31 DEC., 2016 | TERM: FIRST | TOTAL ASSESSMENT MARKS: 100 _ | TIME ALLOWED: 2 HOURS

ANSWER THE FOLLOWING QUESTIONS

1. Indicate whether each of the following statements is true (T) or false (F) and correct
the false ones: (27 Marks)

Degenerate primers are derived from RNA sequence ( ).

PCR can only be applied if some sequence information is known ( ).

SDS confers the polypeptide chain a uniform positive charge ().

Normally, proteins can be visualized with a bromophenol stain ( ).

Nucleotides are linked by 3'to 5° phosphodiester bridges ( ).

The sum of the purine residues higher than the sum of the pyrimidine residues ( ).

In eukaryotic cells, about 5% of adenine residues in DNA are methylated to 5-mA ().
Nested PCR is aimed at reducing product contamination due to the amplification of
unintended primer binding sites ().

i Proteomics is concerned with the identification of the full set of proteins ().

s@ e Qoo

2. Complete each of the following: (25 Marks)

a. The name of the bond that links the nitrogen base and the ribose sugar in a nucleotide
is .
b. Stacked minibands form

The beadlike unit of chromatin structure is the .
d. In a covalently closed circular DNA, the total number of turns is a constant and called --

o

e. Bending or twisting of the axis around both strands of the DNA coil is referred to ----——--

f Restriction nucleases cleave DNA at .
g. permits a partial assembly of large genome sequence.
h. A DNA sequencing method that use enzyme to amplify a DNA copies is called ---------—-

o e .

i In eukaryotic cells, chromatin is the complex of -
and :

i. Any source of DNA that provides one or more target molecules is --

k. Purines and pyrimidines are nitrogen-containing
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TANTA 'UN?IV’ERSITY, FACULTY OF SCIENCE, DEPARTMENT OF BOTANY

FINAL EXAMINATION FOR THE THIRD YEAR (SPECIA -, MICROBIOLOGY AND BOTANY)

COURSE TITLE " APPLIED MICROBIOLOGY : l COURSE CODE: MB3113
DATE: 4/1/2017 JANUARY 2017 TOTAL ASSESSMENT MARKS: 100 i_TIME ALLOWED:2 HOURS

The exam is comprised of 3 pages

Answer the following questions
QUESTION |. GIVE REASON (s)

(30 MARKS)

1- Priority of enzymes as biological detergent,

2- Bacteria protease is more favorable than fungal protease for dehairing of goat skins in the tannery.

3- The need to produce lactose-free milk

4- The partial neutralization of the free itaconic acid during fermentation process.
5- Enzymatic desizing is the most widely used method for the removal of starch.
6- Fungal a- amylase is superior to bacterial a- amylase in bread making.

7- Production of itaconic acid requires very low pH

8- Lime is added to the culture medium during citric acid recovery
9- All new enzyme Preparations developed are of microbial origin,

10- Microbial proteases are used increasingly in cheese making as a substitute for natural rennet
QUESTION 2. Check ¥ or X for the following sentences (20 marks)

1. Constitutive enzyme are produced in response to addition of a particular substance
2. Purity of the product depend on the nature of Use
3. Production of citric acid requires a low pH
4. The main precursors for the production of Penicillin G is phenylacetic acid
3. Active penicillin production is associated with lactose and ammonia utilization
6. The use of immobilized enzymes is an alternative method for penicillin production
7. Quality control of the product is determined by the cost and purity
8. Griseofulvin is one of beta- lactam antibiotics
9. Microbial fermentations are used to produce inorganic acids
10. The native penicillin is potent enough for clinical use
11. Penicillinase is an enzyme used commercially to produce semivsynthetic penicillin
12, Overheating of fermenter during fermentation is controlled by cool air
13. A major ingredient of penicillin production media is Corn meal
14. Amino acid and nucleotides are Secondary metaholites
15. The composition of the fermentation medium must include Precursor
16. Primary metabolites have no obvious role in the lives of the organisms
17. Gluconic acid is used as a pharmaceutical to supply calcium to the body
18. Industrial microbiology, mainly depends on the fermentation phenomenon

19. Keeping the acquired characters over a long time called strain stability
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15) Glucose isomerase is used as

a) slimming food b) Analytical reagent

¢) Extraction of vegetable Oils d) all of these
16) Production of cephalosporin C was induced by

a) Methionine b) Mycophenolate ¢) Cyclosporine d) all of these
17) The modified steroid is recovered from the medium by

a) Extraction with solvent b) precipitation

¢) Centrifugation d) None of these

18) Secondary metabolites production is

a) extremely specific b)Nonspecific | c) specific d) None of these
19) Batch fermentation is also called
a) Closed system b) Open system ¢) Fed-batch system d) none of these
20) Which one of the following organic acid is used to supply calcium to the body?
A) gluconic acid b)Citric acid c) itaconic d) None of these
QUESTION 4. ENUMERATE THE FOLLOWING (20 MARKS)
1. Quality control of the production process should include check on
1’ 2’ 3’ 4’ 5,
2. Modern method of semisynthetic penicillin production involve
1 s 2’ 3’
3. The following biotransformation are obtained by microorganisms
1, 2, 3, 4, 5,
4. Application uses of Microbial steroid
1, 2, 3, 4,
5. The main factors to be considered during selection of microbial strain to produce enzymes
1, b, c,
6. Stages involved in the production of a desired products from microorganisms
1, 2, 3; ] 4; . 5,
7. Different types of fermentation processes
1 3 2’ 3, 4, 5, 6,
QUESTION 5. COMPARE BETWEEN THE FOLLOWING | (10 MARKS)

|. Crude and refined media
2. Primary and secondary metabolites

With my best wishes

‘EXAMINER MOHAMED YASER BEDAIWY ) \
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UNIVERSITY OF TANTA, FACULTY OF SCIENCE
DEPARTMENT OF BOTANY
FINAL EXAMINATION FOR (SOPHOMORES)Third YEAR STUDENTS SPECIAL PLANT
COURSE TITLE: PLANT Cytogenetic and Evolution | COURSE CODE: 3105
DATE :16-1-201 7[ TerM: FRIST [ TOTAL ASSESSMENT MARKS: 150 \ TIME ALLOWED: 2 HOURS

Answer the following questions:
Question 1:- Complete the following sentences: (25 marks)

1) - Pericentric inversion,......... cieviieee While the Paracentric,......oooveiiiiiie e .

2) —Bivalentis ........cooooiii While the crossing overis.........ooooiin i,
3) -Reciprocal translocation is produced when ........................ and Shift occur when................ ...
4) - Centomeric index ....................... and Arm ratiolS ..o v
5) -Causes of mitotic abnormalities .................. § cereueraraanrenne . g e
) = P 18 Lo ettt e
7) - Function of plasma membrane ... T
8) -Significance of Mitosis.................... gee e gere e Beesnnenaannaanr e aanaaat it

9) -Phaeoplastare .............. In color and Contain the pigment ..................... that absorbs.................
and transfer 1610 ...

10) - The satellites helpsin.................. while the centromere ishelp in........o.

Question 2:- Discuss the following sentences (60 marks)
1- Endocytosis and Exocytosis in plasma membrane
2- Ultra-structure of cell wall

3- Internal and external checkpoint signals
4- Different type of Ancuploidy with drawing that

Question 3: Put (R) or (W) with correction if wrong (25marks)

1)-Ribosomes is microscopic organelles composed of DNA

2) -Tertiary cell wall is composed of xylem beside the pectic compounds

3) -Rough ER has important role in detoxification in the liver

4) - Cristae are infoldings in the mitochondria outer membrane.

5) - Formation of micro-bodies are takes place in mitochondria

6) -The lysosomes are supported to initiate the meiosis in the cell

7) - Thylakoids are closely packed at certain arms to form the granum.

8) - The respiratory enzymes are distributed among the outer and inner membraneofimitochondria
9) - Thylakoids membranes are sites for the dark reaction

10) -Heterochromatin is the genetically active type of chromatin

11) - Rhodoplasts are brown in color and contain phycoerythrin

12) —second prophase in meiosis can be subdivided into five sub-stages

13) - Autosomes is the rest of chromosome complement including the sex chromosome

e N i Y e S N R
s Nt St S e N e N e N

Question 4:- Explain with‘drawing if possible the differences between (40 marks)

1-Deletion and Duplication

2- First and second anaphasc in meiosis
With my best wishes

MarwaHamouda
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EXAMINATION for level 3 Students of Speclal Botany

3 ; +
? |Course title: Plant geography a Course Code:B0O3109

§ Jan 2017 Term: First | Total assessment Marks:50 Time ALLOWED:2 ours
g (32,2 20) sl
b Severrnrerrenns Severrrerenerenns R ‘..q‘ sl dabusa 581 5a 10 aal e -1
i .
L S TR NOURIOOO slalall Ly o 4-;‘4“-'41' 40080 LB Al Al 54 13 s tuall -2
Lo SSURRIN PPN WO Srvnnrncssrrnns o Al g 80 pa A3 50 905 A Jalgalt -3
'!‘ . ' -n - - . -
. Sereerienns KN R Sevneenrl (9S palli i e 4y el (ghliall a4
e K RO, K RO Jeveererrens K NS wbgda Bae plandy (EiLEal) @l a5

(2 15) Ml et - o
/ C(S2,35) bl A g a5 AN A NS Cilas g G pea S
- (a0 5) LA 150 A il i 52
P . ' (a3 5) Al SIS ‘,1: e idialt Jadlh o8 pilid 3 o jidialt Jadll saady 13Le -3

Gan15) bl dals g
Uoe B e Sag dia PUS I quanl &y ia 43,53 53,4 = 541 5a Lo 3 ¢l giuy! bd sie |
(S2038)  Ausie 2,0 11,9 = Jah Lad 6 1 jn L350y 5 5u¥1 bk (g 330 62,5
sl o paina 0S Gragle 39 Lad A 00AN cllaadaall ¢pa ayanl A& oluall (5 giad 2
(b7 LA

Cladlls GG ALa pa
‘5)_&.}." da) dana ‘J,‘ bt



g
Tanta University ‘.
Faculty of Science ;
Department of Botany i)
EXAMINATION for level 3 Students of Special Botany
3 ; 7
i [Course title: Plant geography "1 Course Code:B0O3109
Jan 2017 Term: First | Total assessment Marks:50 Time ALLOWED:2 ours
. (&2,920) :dashi
...... 3:31@ &l Aalua 3S1e st aal e -1
........ I RURRPRU SRR L P1- 5| R PESP-PIK 4§S4Lu.\1| A0 U aad) Ay 13 joaluall 2
....... T NN WIIT SIS .- PRP1 § 5 S CQTRTPC I B NP R
.......... SeversrssessSenneenernninnenesssnnness Snnennniall O19S el G (e &y 51l (3hlial) acis -4
.................. SereresreeeSursrecnnncSunnrseeree Sernenenenn e 338 planly QEiLEAY )l o -5

(B2 A15) g
(B3 5) zlull Aaad g 855 (AU & S Chas gl <l jaan 831
(S0 5) LU g 1)l S aaiaall ¢y )82
(S22 5) Al LS o & jickal ol 308 gl S50 8 fkall Jnilly aucy iLe -3

(215) bl s g
Vae B die 32 g dia PUS | Gl Ay 5ia 43,3 53,4 = 51 a A3 3 gl giud! B sic |
(@ 8)  Asiedayd 119 = St Aad 5,1 n Ly sy o5l B3 (e da 0 62,5
slhall &aia JS Jaagle 831 €n Lab A0L0H Cleaiaall e dyanl) e oluall g gias )
(B2 7) AU

glailly (3 ity (i g
womndlh dand e af sdaladl Sl



Tanta University

Faculty of Science

Botany Department

Theoretical exam. Assessment = 100 marks. Time allowed: 2 hours.
Course Title = Microbial enzymes. Course code = MB 3109.
Microbiology special program. Academic year: 2016/2017.
Juniors  (Level: 3 - Semester: 1) 117172017, 8 5 43,5 8 Ly

AL g g 8 Apdad) Ol s aladiuly G ey

Answer the following questions, proved with equations, and labeled diagrams: Mark

1- Illustrate how cells generate their own enzymes with unique genetic coding. _ 20 marks
2- Illustrate the diagrammatic biochip structure, advantages and its applications. 20 marks
3- How can the enzyme act to reduce the reaction activation energy? 20 marks
4- [llustrate the ideal fermenter structure for optimized microbial enzyme production. 20 marks

5- Discuss one of the applications of microbial enzymes in the industrial field: prove your
20 marks

idea with equations, and labeled diagrams.

Total assessment of written exam | 100 marks

Best wishes............ Examiner:

Dr.: Anwer S.M. El-Badry.




— L <

BOTANY DEPARTMENT - TANTA UNIVERSITY - FACULTY OF SCIENCE

Examination / Third level / Botany Special Students X E
Course Title: Regulation of Gene Expression Course Code: BO3121 | “unw®

14 J;i_luary 2017 Term: First | Total assessment marks: 100 Time Allowed: 2 hours

ANSWER THE FOLLOWING QUESTIONS

1. Which parts of the DNA region shown in the diagram encode proteins? Use the

following diagram of the /ac I gene and lac operon. (I = lac repressor gene; Z, Y,

= lac operon structural genes; P = /ac promoter; O = lac operator) S Marks
O R R W
. A regulator gene produces a repressor in an inducible operon. A geneticist isolates

several constitutive mutations affecting this operon. Where might these constitutive
mutations occur? How would the mutations cause the operon to be constitutive?

(20 Marks)
. Indicate whether each of the following statements is true (T) or false (F) and correct
the false ones. (30 Marks)

a- The acetylation of histones usually reduces transcription. ()

b- Arabidopsis flowering locus C plays an important role in suppressing flowering. ()

c- DNA regions with many CpG sequences are called DNA landmarks. ()

d- High rates of transcription are induced by metals in the presence of distant elements. (
)

e- Coordinately expressed genes in eukaryotic cells are not clustered. ( )

f- DNA methylation is not stably maintained through DNA replication. ( )

g- Chromatin-remodeling is altering chromatin structure by chemical modification of
histones. ( )

h- In eukaryotic cells, gene regulation is characterized by a greater diversity of
mechanisms. ( )

i- Binding of the cAMP—CAP complex to DNA produces a sharp bend in DNA that
activates transcription. ( )

j- lacP mutations are trans acting and thus affect only genes on the same DNA molecule.

¢ )
. Compare between the following: (20 Marks)

a. Negative and positive gene control in prokaryotes.
b. Enhancers and insulators.

. What is attenuation? What are the mechanisms by which the attenuator forms when
tryptophan levels are high and the anti-terminator forms when tryptophan levels are
low? (25 Marks)

With My Best Wishes

Q Basad Glawn < ‘Prqf Dr. Reda Gaafar
/X\ Ui Aol - L CARE
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TANTA UNIVERSITY
FACULTY OF SCIENCE 'ﬁ@i
: DEPARTMENT OF BOTANY 1%':,!:]6"\
EXAMINATION PAPER FOR 3™ YEAR STUDENTS ( SPECIAL BOTANY)
COURSE TITLE:  Secondary Metabolites CODE:BO3107
DATE /1 | JANUARY, 2017 | TOTAL Assessment MARKS: 100 Time allowed:2 h

Answer the following questions:
“Question I: Answer the following. (46 marks)

1-llustrate the biosynthetic pathways of phenolics. (26 marks)

2-The importance of terpenes and terpenoids. (10 marks)
3-Tabulate 5 classes of phenolic compounds, give examples. (10 marks)
Question II: (40 marks, each 20)

1- Give an account on properties, sources, pharmacAoIogy and function of alkaloids.
2- Classification of terpenes and their role in growth and development.

Question Il: (14 marks, one each)

CHOOSE THE CORRECT PAIRS

1 Vitamin ' Symptom
a- Earliest deficiency of vitamin A i-rickets
b- Excess accumulation of vitamin A ii- night blindness
c- The main symptom of D deficiency iii-Osteomalacia
in children leads to :
d- Vitamin D deficiency in adults leads to iv- bone pain
2 Deficiency of......... Leads to
a- Vitamin C i-appetite depression
b-- Pantothenic acid (B5). ii-nervousness and depression
c-  Vitamin B6 iii- dermatitis
d- Vitamin B1 iv-Scurvy
3 Substance : Occurrence
a- Vitamin B12 i-ergot fungus
b- Vitamin C ii-roasted coffee and smoke
c- Ergot alkaloids - iii-fresh fruits and vegetables -
d- Guaiacol iv-Kidney and liver of animals
e-  Gallic acid v-Carrot - '

f- - Vitamin A vi-in galls

Best wishes....
E. Hamada. - E. AboKassem.
Office: 320



TANTA UNIVERSITY
FACULTY OF SCIENCE .
BOTANY DEPARTMENT :
INAL EXAMINATION / Credit hour system/ 3 year Special Botany -
; Course Title: Enzymology : | Course Code: 3111
DATE: 26 January 2017| Term: 1% | Total assessment marks: 50| Time Allowed: 2 hour
A- Choose the correct answer for each of the following:- (15 .‘Mar@.s)

1) Catalytic activity is modulated through noncovalent binding of a spe01ﬁc
metabolite at a site on the protein other than catalytic site.
a- Allosteric enzyme b- Endproduct inhibition.
¢- Feed back inhibition d- All of the above. _ ' A
2) Any chemical substances which has molecular structure that closely resemble a
substrate and can reduce or inhibit the activity of an enzyme is known as :-
a) Broad specificity b)) Competitive inhibitor c) isomers d) all of them
3) An enzyme that catalyses the inter conversion of fructose 1,6- diphosphate to
dihydroxy aceton phosphate and phosphoglyseraldehyde is known as:-

a) fumarase b) epimerase c) aldolase " d) non of them.
4) Enzyme catalyses the interconversion of malic acid into fumaric acid is:-
a) fumarase b) epimeras c) isomerase .d) all of them.

5) An enzyme that catalyses the inter conversion of pyrovic acid to acetaldehyde
18:-

a) carbohydrases b) aldolase ¢) carboxylase d) non of them.
6) An enzyme that catalyses the inter conversion of aldose sugar to ketose sugar

known as:-

a) isomerase b) carbohydrase ¢) epimerase d) all of them.

7) A substance secreted from microorganisms or glands in higher plants on their
substrates to break down their complex organic compounds into d1fquIb1e and

simple compound. |
a- Enzymes b- Hydrolases enzymes c- Extracellular enzyme d- All of them.

8) A type of enzymes catalyses the addltlon of the Water elements to a specific bond of
the substrate. ‘
a- Lysis enzyme. b- Ligases enzyme. c- Hydrolases enzymes. ' d- Tranferases enzymes.
9) A group of enzymes active on the reserve foods in plant tissues and in the seeds.
a- Carbohydrases. b- Esterase.  c¢- Proteases. d- All of the above.
10) In many system of enzyme reaction the end product of the metabolic pathway
was able to inhibit the first enzyme unique to the pathway. .
a- Retroinhibition. b- Multienzyme system.
c- Competitive inhibitors. d- Non of the above.
11) A type of enzymes that have common catalytic activity, synthesized under control

‘of different genes, differing in molecular properties.
a- Isoenzymes. b- Conjugated enzymes. c- Multienzyme system. d- All of the above.

Galall A bl iy B
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TANTA UNlVERSlTY
'FACULTY OF SC[ENCE .
 DEPARTMENT OF BOTANY v

E)(AM!NATION FOR FRESHMEN {LEVEL THREE) STUDENTS OF SPECIAL BOTANY

COURSE TITLE |~ PLANT GROWTH AND DEVELOPMENT | COURSE CODE: 803101

‘| DATE: 21/1!2017 | TERM: FIRST | TOTAL ASSESSMENT MARKS: 150 | TIME ALLQWED. 2 HOURS

Answer the Followmg Questlon8' :

First question: Complete the followmg o (60 Marks, 2 marks for each)
1y The growmg reglon of the plants IS i, .
- ',,, 2) Apical dominance in shoot oceurs due 10 veenn
3 Morphogene51s is defined as wveeosmereensssssnsnnns ; o |
" 4) Auxins were the first plant hormone dlscover by ..... |
5) Absc131c acid is actmg as agamst , and....o,
6) Lateral root prlmorchal ETTIR 1 S, v I
7 Phytochrome SRR " ) |
| . 8) Flowering is an import'ent phase hei:ause ..... S
'9) Senescence is defined as ....... S ... if not reversed
IO) Before verbahzatlon, the seeds are aIlowed |0 PP
11) Typical plant consists of ....... 623 stenscaves »and evesmmineien
12) Signal transductlon is defined 8S wecrnsieanirassssitennan | ‘
13) Fruit rlpemng is induced by ........... . hormone which is synthesized from .ucvenennn. sreserenses o
_ 14) Vascular dlfferentlanon is mduced ) 2SS and ......... ... hormone ‘
‘\i\ o 1;) Factors affecting the growth are csrosngansnsnsasisssisearens |
16) The complete development ofa cells passed through ...... oy eveeessand

17) Photoperxodlsm is defined @8 worevreririencnnciincrinen, »

18) Seed dormancy may be due to ............... y wesvanssnessnes @NA arnee

19) Farnesyl pyrophosphate is an intermediate in the biosynthesis of ..... eeneee ANd .. .} ..hormones
20) All developmental stimuli shore the following sequence of signal ........ ory asnessenne " and....‘....‘.
21) Before cytolysis conductmg elements become and ......... R '

22) Dormancy may be elther ssvennss OF

23) Application of auxin to unpolhnated ﬂowers Ied to ............. | _

24) The primary messenger in 51gna] transductlon TR assssnsnoy whivl_e the SeCOndary
MESSENGETS ATE 1. vruvservverny ruvensnnens and eoen, e - o v _ ‘

25) On the basis of the day length, the‘plants are classified into .......... -, and ........... s

26) Bolting phenomenon is defined as .....uovrvvessveionnanns L

27) Fruit setvis defined as .......esvenr and ..

‘,' 28) The grand period ofgrowth IS Lo,
29) Plant hormones ) (R, - “ |

~ 30) Growth rate is measured in terms of ..
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